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\ RANS TH/IAb.

&1 o1 Sx-3 ’ (Juestion 4 ( Start A New Page).
— ) |
(%) Solve —g—* — == =2 - (a) A surveyor records the followiny diagram. D c
(by Evaluate toZ decimal places eX sin 2x when 3 = 2. LABC = 125° £ ABD = 47°, £ZBAD = 110 %, ZBAC = 41°
X :
(¢) Write 7.21 as a mixed fraction. Find the lengths ( 2 decimal places ) of 1o" 125°
(d) Aperson deposits $ 650 into a savings account for 10 years at an interest rate of 4.35 % p.i. () BD
41°
Find the valu: of the sccount st the end of 10 yoars, (i) CD if BC = 54 rnetres. TN N
A 2010 B
. 1\ (b) Givea A(-5,4),B(1,7),C(9,1)and D(~1, -4) l
(e) Rationslise the denoninator and simplify 3o .
* (i) Show (a) ABCD is & trap:zium
Question 2 ( Start A New Page) (8) ADLCD
(2) Differeatiate y wrt x : (ii) Find the area of AECD
. , o
| 1) y=en Questiont 5§ ( Start A New Prge)
i (ii) y=Xx8%eCX C 43

(a) Grapa  y=-—x»
(i) y=2In(x3+4) o~ 2

|
| T 5
| (iv) = tan3 2x . | i) Simphfy . 1+ g, 1

‘ x ic) The region bounded by the curve y = -E%— and the hnes x =3 ,x:=4, y=0, is rotated
| (b) Find the equition of the tangent to the curvey=;5-ﬁ-ux=2. -

Writs your answer in general {orm. arownd the x uxis . Finid the volume of revolution.
Question 3 ( $tart A New Page) | d) Find the area bhounded bythecuwey:ﬂ}?-ﬂ and the positive x and y axas .
Question 6 ( Start A New P
(a) Find the primitive furiction of —e;i — o8 2x.. ( e ) A 40 B
: +a) The cross sectional area of a circular cam centre (Ois show. —\
. /
(b) Find : | I
Show that /~ AOB « 1.459 radians, 3em \ /3o
: _3)2 | | _ 0
(i) f (7x -3)2 dx | henice: find (i) the perimeter of the cam ( 1o 1 decimal place) -
(ii) fﬁ(:h+ 1) dx ' (i1} the cross sectional area of the cam ( to 1 decimal place). ' “’/
Giii) I e2X 4 1 & (b) A compound :mbstance decomposes into it's clements at a rate pmpmhonal to the amount of
1t - ~
eX
compaound pres:ni , ie 5‘%?— = — kM where M is the mass of the compound present after ¢
" ¢
4 seconds and K 13 the proportionality constent.

(¢)Evalaate (i) J4 sin 2x dx
(i) Show M = A ¢ ¥ is a solution of the differential equation when: A is a constant.

(ii) If 900 gramis decomposes to 350 grans in 50 scconds

3
.o 73] 1, (18
(ii) Idex (o) show A =900 and k"ﬁff"(ﬂ) ‘ |
0 (B find the amount compoiind ( nearest gram ) remaiving after 140 seconds .




tJuestion 7 ( Start A New Page).

Given the function ymg-;rl(—?-m—x m the dorain O < x < 2n

(a) fizd the location of all the siatioaary points and jetermine
(b) graph the function in the giver domain

their naure |

x

(c) using 5 function valuss evaluate by Sin pson's rule T%i:n—x' :
0
(Juestion 8 ( Start A New Pag:).

ta) A man borrowvs $ 13500 at 9.99; P-a. red scible monthly interest for 4 yoars, and agrees 1o

repay/ the loar in equal monthly instalments. Find the value of the monthly repayment .
(d) Twelve studeits are to be chosen from twenty students of equal abiliry.
Find the probubility tht :
(1)} three particular students A , B, C ar: chosen
(i) audents A and B are chosen: but student C is 110t chose)
(iii) noge out of students A , B , or C are chogen

(iv) o jeast orie of the students A , B _ or C are chasen.
Question 9 ( Start A New Pagy)

(a) Find the values of k to raake y=(k+2)x2+4V¥3x + 5~k positive: definite.

. : eX X
(b) Given the funciion g(x) = -

(1) show that g(x) is ar increasing function for all values of x

(1) fiad the minimum value of ite gradiert of g(x) and wheie this occurg
(i) gaph y = g(x)

Question 10 ( Start A New Page).
(a) A particle moves with velocity v m/s in tiée t socends according to -
V% e
Ji+1
Find i) the acceleration as a function of time t

(ii) the displacement x 13 a “unction of time if initially the particle was 2 metres t) the
right of the orijjin,
(b) In a pentagon ABCDE, AB=A)3, BC= ED and EID = EC.
Prove thst AC = AD
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